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1

2

RHEBOFHE
HERRMKE
Q=11000XCXIxXA

Q : FEZRAFTKE (M3 hr)

C: BIERHARH
1 EFHETHEAE 57 (mm. hr)
A : SOKERE ()
BEREGRREIENERRHANITEEEZERT 5.
I i A i RE I & Al mHfRE | B2EER
E & 0.90 K @ 1.00 FE
H B 0.85 felfh (ZE3th) <> 0.20 =
RERE 0.70 FElHE (Z230) <BbRIBE>|  0.30 FE
ZDBOTFBEKE 0.80 ZEROZLNAE 0.15 =
QEOPHLMLHE 0.30 F=E
AFEO B LM 0.50 &
HERARKEQOEH
I i# C:BES| A-EXKEHEM) CxA Q:(m3.hr)
E & 0.90 546.59 491.931 28.040
E B 0.85
ZOMDTRFEKE 0.80
K @& 1.00
BRBERE 0.70
fEith (Z24h) <> 0.20
Flh (Z2H) <EDFIZE> 030 855.39 256.617 14.627
FAY - ENOE JRENE 0.15
QEDOPHL L 0.30
BE DAL 0.50
it 053 1401.98 748.548 42.668

2EATE-1-




I @BMERERET

1 TEEBEMBERER HBERS  [ReFims] RioRim [BiEKEER
= R O—A. i " O—.A Aa—.A O—A
EAFNBIKIES ko (m/h] 00325 ko (m/hr) 0.108 0.054 0.0325
ko (cm/sec) 0.003 0.0015 0.0009

2 BERBROBHWES
21 REZBE

FAKESHEDEERIMBERMARBINFMEERORESICEETIEMH]

A B - BHEFSIELYEETS,

QfF =K x f

Qf : EEBZFE (m3 hr)
K: lE2E8 (m)
f: TEOBRMBKEH (m/hr)

22 BEFTES
FFREE. TEETVERNTEHT S,
Qt= V X Tv
Qt : EEFHEE (m3)
V: K (m3)
Tv : Z2[EZE (%)

23 BENER

Qd = Qf + Qt
Qd : EENEF (m3 hr)
Qf : H#EBEE (m3hr)
Qt : EEFERE (m3)

3 EERORE

4 HIE

(ZRENEIOHEBHIRA—VLRER)

E BB SERE ) XY J (REE)

& Ttk (2eemE| B 2 g | pER |
Qd{(mashr) 2 Qd(ma/hr)
R FE B &
2EH {&
BBENUF m
EBENUTF m
iSFEEIE | 800x800| 0.484 00 m 43.560
Bt * % %k * % % [k % % % % 43.560
MEEQ MESEIQ] HIE
{m3/hr) (m3/hr)
42.67 4356 | WRETD

BREHE -1~



REAEOUESIHE

RErEE
miER
#E W= 800
HERIK| BHAE 5iE8B1= 0 .
BB Al - B AEB2= 0 g
EEt/kEE #10.3m ]f >E
MEEIRAE|  18490.3m EEL , l 5
ZEFA K=aH+b :
H(m) 08 B '
W(m) 0.8
L(m) </ 1m Foks—b | Jho=
a 3.093 { o
b 1.344W+0.677 g
1.749 i)
K 4.223 thi=0 |
B3 1mLYTCHET S, & 300r ¢ 40, = H= 800
By 50 J
. : (BfI:mm)
2 BR85S KBETTOT. B ELTLEEL,
QF=K X f
of : EEEZBER (mashr)
K: tigEs = 4.223 = 422
f: TIEOBEMBKFEHR (m/hr) = 0.054
Qf = 0228 (m3./hr)
3 BERES
Qt= (W:H —B1+h1) * Tv 4+ B2:h2
ot : HEEFTEE (m3)
Tv : ZEMEE (%) = 40 (ERERE ¢ 30)
W(m) | H(m) [B1(m) | B2(m) |h1|h2| W-H B1-hi B2+h2 Qt
0.8 08 0 0 o| o] 064000 | 0.00000 0.00000 0.256
4 HEHNBS
Qd = Qf + Gt
= 028 + 0.256

0.484 (m3.~hr.”m)




